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Analysis Cuts

y+p—=p+n—=p+ata 707070 — p+ ta6y
trees: /cache/halld/RunPeriod-2018-
08/analysis/ver06/tree_piOpiOpiOpippim__B4 M7/

© N s b~

8.0 GeV < Epeam <9.0 GeV
x?/NDF < 6.

QF> 0.5 for all 6 photons
Exactly 6 in FS

M(p7rT)<1.35 GeV

N.o>2 (m_o = 0.135+ 0.03 GeV)
m, = 0.5478 £ 0.05 GeV (2.50)
MM=0+05
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p in the data

77~ Mass 77~ Mass vs n

Pi+Pi- VS 6y Mass KinFit

Pi+Pi- Invariant Mass KinFit
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p in the data

77~ Mass 7T~ Mass vs n/

Pi+Pi- Invariant Mass KinFit Pi+Pi- VS 6ymtMass KinFit
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n/ inv. Mass
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small background!
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® ~ 30% of Fall18 data

® QF and AT+ cut not needed
double yield, minimal backgr.?
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YES: QF and A** do not affect 7 much.
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Even cut on the n inv. mass only affects masses above the .
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